Mathematics 280

Integration:  Parts


Recall the product rule for differentiation:


If f and g are differentiable functions, then
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which, in the notation for indefinite integrals, is equivalent to 
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or
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which is equivalent to 

(4)  
[image: image4.wmf]()()()()()()

fxgxdxfxgxgxfxdx

¢¢

×=×-×

òò


Let 
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then we have
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Solution:

First we notice the integrand is represented as a product of two functions.  Thus integration by parts may be appropriate.

Let   
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and          
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Then 
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and 
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Now using the formula we obtain
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Now since the integrand in the remaining integral is also represented as a product of two functions, we employ the technique of integration by parts again.
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Substituting into (1) we obtain
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Problems.

a. 
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b.  
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, n is an integer.
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